ALFA ROMEO CHALLENGE 2025 + ABARTH CHALLENGE 2025 KANSAI & KYUSYU Rd.1
ETCC2025 Vol.3 Okayama
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B =& ES4/3— ETI BH ® @ #BEAE DIE QIlE_&EHIER &=
1 36 ME %5 Porsche 718 GT4 6T4 6+6 = 12 1x0.8 +1=1.8
IEfr  EHE 54 /13— ETIL X3 D @ #EAME DIE QIE_&EHIES A
1 13 =B o= BMW Drive. M2-PNU 6+6 = 12 1x0.8
2 16 = i1 Porsche 997 GT3 ACFxLYY* 997GT3 6+0 = 6 2 x0.8
3 6 PR AR BMW F82 M4 ASSIST F82M4/GB 6+0 = 6 3 x0.8
- 67 TR it BMW F82 M4 SpR-NAUT0147 D 0+0 = 0 -x0.38
67 F8 EX Mclaren 7508 IM, DATWA 0+0 = 0 -x0.8
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3 86 ") #x BMW E92 M3 0cci-DNS-PU 6+6 = 12 3x0.8 +3=54
- 67 MR ER BMW F87 M2 ASSIST F87M2 0+0 = 0 -x08 +-=-
B =& ES4/3— ETIL £ D @ #BAE DIE QIE_&ETIER &=
1 28 AR KEB Audi TTS 6+6 = 12 1x08 +1=1.8
2 88 &0 Bh Audi TTS schwarz-#JRTTS 6+6 = 12 2x08 +2=36
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1 54 E  JE3L MercedesBenz AMG A45S A45S 6+6 = 12 1x08 +1=1.8
2 35 fEE H& VW GOLF7 Gti DMS-GOLF7-PMU +6 = 12 2x08 +2=3.6
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1 2 B EH ABARTH 595 WAL 6+6 = 12 1x08 +1=1.8
2 41 B #Eh ABARTH 500 7° 399N WEY=S TN Wb 6+6 = 12 2x0.8 +2=36
3 610 B —% ABARTH 500 Y4193 6+6 = 12 3x08 +3=514
4 405 E bk ABARTH 500 7 WE500 4+0 = 4 4 x0.8 +-=-
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1 18 AE @l ABARTH 595 auA" Wit 6+6 = 12 1x08 +1=1.8
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1 38 PN Renault 4" -33 RS carol 4" -%3RS 6+6 = 12 1x08 +1=1.8
2 60 I EIE Renault I-757 4=9" WAk ~JRAYSI/- 6+6 = 12 2x08 +2=36
3 62 #Hu & Renault #4"-3RS 3 WI=34" =37 b-RS 6+6 = 12 3x08 +3=54
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1 57 I Rig Renault Clio Cup 74" 3Gl ioCup 6+6 = 12 1x08 +1=1.8
2 25 wE R BMW E92 M3 BMW E92M3 6+6 = 12 2x08 +2=3.6
3 56 K fE— VW Golf5 GTI CUP #)EUROStage 154 5+0 = 5 3 x0.8 +-=-
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1 58 R s 145T8/2.0 Prosper145TS 6+6 = 12 1x08 +1=1.8
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